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Identifying coins

Kindergarten Money Worksheet

Mary's pocket

Circle the correct answer.

1. Mary has _2 /3 quarters. She has __more /less quarters than Ben.
2.Benhas_1/2/3 dimes. He has _more /less dimes than Mary.
3.Maryhas _4 /5 nickels. He has _more / less nickels than Ben.

4. Mary and Ben has same number of pennies. They both have _4 /5
pennies.
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Answers

1. Mary has 3 quarters. She has less quarters than Ben.
2. Ben has 3 dimes. He has more dimes than Mary.
3. Mary has 5 nickels. She has more nickels than Ben.

4. Mary and Ben has same number of pennies. They both have 4

pennies.
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